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PART - III
sewtsELudlellwe) / ACCOUNTANCY

( SWIp wHmib < iidle il / Tamil & English Version )

ST Jjemey : 3.00 wenfl Cryibd | [ Qorgs wuGuarser : 90
Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

Sidleyenraenr : (1) SinaGF eSlenTEEHD gflwrs USleurdl o areTgr eramLgemen slurTésis
Qretarayid. SiFaILHeNd GopABLdar Siens semsraliumerilLLD
2 | angurgd Qsflelésalw.
2) Beo ooy smuy owvdoa LLECL  TWHASHEGL
<y 5G5my HaushEnd UwauBSs Caiam(b. ULBEET uareusn &
Quendledr LweTU(HSSey.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

u@&dl - I/PART - I
Golly : (i) Sewensg elamés@ErsEh eflaLwaflsaa,w. 20x1=20
(i) - Qar@sslul(Harer wrHm eflenLgefld Wseayb ghumLw e amws
CapAs(sss GHIULGLe e lamanb Csiés) er(pseb.
Note: (i Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

@M sl Lnall @ai@einm wig @odludend ¢ @flindi L Agrasemy aiphswons
TREHEQana@End Qung «ihe e @UiLadt 1Bg sarsdiuGin el gseEfu
Wrsh&Eer srnafluneg ;

(<) 12 wrghise () 5.5 wnghiadr (@) 6.5 wrghiaer () 6 WIHHSE
When a partner withdraws regularly a fixed sum of money at the end of every
month, period for which interest is to be calculated on the drawings on an average
is .

{a) 12 months (b) 5.5 months  (c) 6.5 months (d) 6 months

8O Qebd whAprm QerdCer® Aupd s En Opri@oman saflselwd
Wepulld) smmeug)

(1) wrdl (<2) WPy &y (@) Erwrend () el
The mathematical expression that provides a measure of the relationship between

two figures is called :
(a) Model (b) Conclusion (c) Decision (d) Ratio

aumeuml pmIb Cseeilens samse surflésiufeausen apab sar_fluliu@eug) :
(=) 2ufl SiOg UPPTEGED (<)) OTUD SdOF BLLD

(9) B8 fleoa () Qpmésbd wHmb eukdl @)Ly
Income and Expenditure Account is prepared to find out :

(a) surplus or deficit (b) profit or loss

(c) financial position (d) cash and bank balance

sal L mefl Gamiy Qgmruns Gereumd sampnsaie arg o aramourasoan ?

(=) sal L mamenio Hlmieuanioreang LS @uUBSSSen & N SLamwssILEHD.

(=) Qurgieurs sl Lreflseflar uyaur o Menwser oL,

(8) gnsarGeu 2 erar @UUBSLTEE (Plga)&E Csram® eurliuLTs.

(F) heogw pampsater @orubd WHmID HLLk&GET LUmpw sl LreaflsEnss,
uélrpseaflsaiuL. Geuam(Hib.

Which of the following statements is not true in relation to admission of a partner ?

(a) The firm is reconstituted under a new agreement

(b) Generally mutual rights of the partners change

(c) The existing agreement does not come to an end
(d) The profits and losses of the previous years are distributed to the old partners

vwenflen CeeneusGapu swrilEsliL@ibd samsdwd Msmswrag) :

(&) @muumie] (<) eupsswrar sansdud ohéms
(8) @muy fleaseghuy () @IUALL Crrés <ifléams
Accounting report prepared according to the requirements of the user is
(a) Trial balance (b) Routine accounting report

(c) Balance sheet (d) Special purpose report

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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Geneumd eurdfumisalld arg) gauprengl ?
(@) &MY @s@ Hpogms soad@n GUrg Qaqibgiorm siepliL] elBH&s0

SIGEYED
(<2p) Qauafilli UL LbIE@GApHe omdsfsslulL LBiGgme efL emGurgb

S EH0OTS @Q(HEHEILF),

(@) QegudsiiuilL UBIGPSED, SIDPEHHLILILL UBIEG psedler q(m LUGE @L0.

(/) URIGSET GOD @UIUITE @b EID Hlenaufed Qavafluf Ll ukig pge
QUUYW UGS el @emDalrs @@é@lb-

Which of the following statement is false ?

(a) Reserve capital can be called at the time of winding up.

(b) Issued capital can never be more than the authorised capital.

(c) Paid up capital is part of called up capital.

(d) In case of under subscription, issued capit
capital.

al will be less than the subscribed

Anws seoder Gurg wLGCL iepsslULEsmGL URIE (psedes @ LGS
__ oTem epssUuLD.
(1) psellens sTUL

(8) smiy s
That part of share capital which can be cal
company is called :

(a) Capital reserve (b)
(c) Reserve capital (d)

(<4) oi&sNssiulL (PS

(FF) SlenpdsILL L (PFHeV
lled up only on the winding up of a

Authorised capital
Called up capital

Hlenad 2iflGens G

(=) Qrrés pLeugsassaian AsTEUL

(<) eugpomand wHmb Qsweisdr SiPlEns
(@) sLen pLaugsamasafian CgTEIL

(7) Qerggsar wHmbd QUIHLILEET ADlEms
Statement of affairs is a

(a) summary of cash transactions

(b) statement of income and expenditure

(c) summary of credit transactions
(d) statement of assets and liabilities

o eIl Coréssdpans Qupm perdlsmenL

(1) eumeuruien Glsaay (<=,) eumeumuiler eurey
(@) padlars Ceawa, (FF) @psedlen curey
Donation received for a specific purpose is .
(a) Revenue expenditure (b) Revenue receipt
(c) Capital expenditure (d) Capital receipt

[ Smiys / Turn over
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10. s Lrawrenld gUILITaIamTLD Qéwrg Haouid (ﬂ@lmmg@e‘h @erud sl Lmefl
saflen_Gui ueﬂr'rﬁg;aﬂéss;mu@su@ :
(=) swwrer cNfssHda (<) oo aNflgsHlen
(Q) (=) wpgd () (/) Gupamplu ergeyLileama
In the absence of a partnership deed, profits of the firm will be shared by the
partners in :

(a) Equal ratio (b) Capital ratio
(c) Both (a) and (b) (d) None of these

1. Qurgliysemers smigd WgSurs o der Qsrsgéser

(=) s (<) BLL1b () @aruib () Qprésid
The excess of assets over liabilities is :
(a) capital (b) loss (c) profit (d) cash

12. ¢ fnuasder sLig BHg arhsafer Qerunisdr Geameumwmy :
2014 : ¥ 4,000 ; 2015 : ¥ 3,000 ; 2016 : ¥ 5,000 ; 2017 : ¥ 4,500 LD[j')Q_lLb

2018 : ¥ 3,500.
S yan(saier srrefl Qeruld :
(<=1) T 6,000 (<)% 12,000 (&) % 4,000 (%) ¥ 5,000

The following are the profits of a firm in the last five years :
2014 :% 4,000 ; 2015 : ¥ 3,000 ; 2016 : ¥ 5,000 ; 2017 : T 4,500 and 2018 : Z 3,500.

The average profits of five years is .
(a) ¥ 6,000 (b) ¥ 12,000 (c) 4,000 (d) ¥ 5,000

13. wawdliemu el idlswrs Qupn Qgras eurey mausSILEHL SaTéE :
(2AN) LBRIG PSS FaTEES; (<) LESly (peraTnd seawrd,
(8) uiE enulplyus sarsE () @Y WPETLmTS SaTéES
The amount received over and above the par value is credited to

(a) Share capital account (b) Securities premium account
(c) Forfeited shares account (d) Calls in advance account

14. [fl4 fleve sdlsensser deualldam Lrgg) :

(<=1) EGndw sre SHeUDSET (<) LIERTID FTTT SHEUDSET
(@) Bar &re) S&eUOSET (F) &LBS sre gaeudsdr
The financial statements do not exhibit :

(a) Short-term data (b) Non-monetary data
(c) Long-term data (d) Past data

Kindly send me your ahswer keys to our email id - padasalai.net@gmail.com
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SpE sLend@ ainhidlug Tally-6 6 by auends gnamprevanggla) uFutuGn ?
(<) Qararpsd® anaraaD (<)) QuEipSEr FranprelemTLD

(Q) Qegupgdsar snenprasamd () GHOGUE G681 e amTLD

In which voucher type credit purchase of furniture is recorded in Tally ?

(a) Purchase voucher (b) Receipt voucher
(¢) Payment voucher (d) Journal voucher

Spameaaapiler erg sflwureang ?

(=) 2w Qarub=srrefl Gerub—srgmye Gerutb

(<) ewi Qerub=Qwrés Gerub/yarpseida aeamamisnms
(@) ewi Qerub=syrefl Garubx Qaraiipse pamHse
(F) swi Qarub=sml @ Gorub/yarpsaiar aareféns
Which of the following is true ?

(a) Super profit=Average profit—Normal profit

(b)  Super profit=Total profit/number of years

(c) Super profit=Average profitxyears of purchase

(d) Super profit=Weighted profit/number of years

sr&AGIY QL sl yé Cegusdu Qsoeisd fhisers e drem pLUILE
QersgsseT :

(<) B (<) sy ser

(@) elenrey GeTggdEser () yoam@h Cerss

Current assets excluding inventory and prepaid expenses is called :
(a) Funds (b) Reserves

(c) Quick assets (d) Tangible assets

oIS saTEG @ .

(31) YeTan HandE (=) Qands HamreE
(@) yeramyr saéE () Quuwrere| HaT&HE
Revaluation Account is a .

'(a) Personal Account (b) Real Account

(c) Impersonal Account (d) Nominal Account

[ Spliys / Turn over
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19. Yeraumbd curdHwkiseaid eyl aflwreargam ? .y
(1) Curd@l uguumiiey e @rramgd Agrassafd FHUGD TP
<2bWe] Qewigmad @HiugnEL. :

(<) @iltyser pmbd L ywdsd Hffow sfsomssalda UGS %éﬂmm.m

(@) Qurg wierey oiféams Ha QuITg il lILeLEMETS Q& e (B um@mg
Qamtisaflen QgpriiGenans s (easrgn. QUTE 2H6Te St ueL e
speildlgLons sl Lliu@Hapar.

() B Heow eflsms uguuniadea selsad Qurg oieTe SAPss
G LTl GLD.

Which of the following statements is not true ?

(@) Trend analysis refers to the study of movement of figures for one year.

(b) Notes and schedules also form a part of financial statements.

(c) The common-size statements show the relationship of various items with

some common base, expressed as percentage of the common base.
(d) The tools of financial statement analysis include common-size statement.

GHenem

20. wpwiiiiger Gurg Qurylyselar eidsfiy smeg :

(1) B (<) @aruid

(8) s (rF) GupsarL egdldama
On revaluation, the increase in liabilities leads to :

(a) Loss {b) Profit

(c) Gain (d) None of these

U@&S - I / PART - II

GUILY : aemeuCuenbd g darésErsE ool ualsseaybn. elam aar 30-&@

sLLmuwre elen_weflédse]L. 7x2=14

Note :  Answer any seven questions. Question No. 30 is compulsory.

21. flevew yPldens eremmmed eretar ?

What is statement of affairs ?

22. 2 196 QarenL erammmed eremen ?
What is legacy ?

23. sellgm eramueul @ sl L ramao Himeuanddlen sl Lrefl. Sjeul eupEsLTs gal
Geump wrgptd ¥ 2,500 er(igg1E Aardrdlprt. erhluyser B ey < amhiéE 4%
semsdlLuuL Gauam B, Sl gablarm wrg der éssdad ahsd mbare
erhuysar g eully srrefl st popamwll LwaURSS sl eyb.

Kavitha is a partner in a firm. She withdraws X 2,500 p.m. regularly. Interest on

drawings is charged @ 4% p.a., calculate the interest on drawings using average
period, if she draws at the beginning of every month.

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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o Wi @eTULD TEIe) crere ?
What is super profit ?

Hurs Qdsd ararpra eraren ?
What is sacrificing ratio ?

gal_Lrall ellesd eranmred crear ?

What is meant by retirement of a partner ?
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SUHO e ﬁ@“mb 710 LD;f;]l'JLIdTG” 50,000 Gpirenwols uki@Gsener I 3
weoawsde daafllllLg. magsg Qgrevsud alamamiuggen AegissU
ulrg. GOUCULE ufleaysemard Hre.

Abdul Ltd, issues 50,000 equity shares of ¥ 10 each payable fully on application.
Pass journal entries if shares are issued at a premium of ¥ 3 per share.
SpsaL ssaudsaldmig edamre) elflssamss sEM&ELa)LD.

Qurgs pLuy Qurplyser T 2,40,000; Qurés HLUY Csrégse I 4,50,000;

sT&AmIY T 70,000; (pan sallgd Qegsdlul Qeeveyser I 20,000.
Calculate quick ratio from the following details :
Total current liabilities T 2,40,000; Total current assets T 4,50,000; inventories
T 70,000; prepaid expenses I 20,000.

sraflubi@h samsswud oD TernTe eTeman ?

What is automated accounting system ?

Qeéraumid efeuriseflelmbg) snan Gor Hipwgslar UL aupLomar SidlEemsamw

swrir Qewweyw.

X 2016 - 17 | 2017 - 18
efleu ; 7
eApuianan peib AQuip eupaumis | 1,00,000 1,25,000
QFaeyEaT 75,000 60,000
From the following particulars, prepare comparative income statement of Tharun
Co. Ltd.
) 2016 -17 {2017 -18
Particulars
4 4
Revenue from operations 1,00,000| 1,25,000
Other income 25,000 20,000
Expenses 75,000 60,000

[ Smiys / Turn over
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u@d - 11 / PART - I

sLLmuons el welldsa).
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Answer any seven questions. Question No. 40 is compulsory.

SeRTLHlweylb.
efleumd 4

2018 eteuf] 1 ST SLareflger 1,30,000
euaurarmng. e sLemaflsefl_ 0 mHs Qrrésn Quppg | 4,20,000
ellpueens HmLriLib 35,000
QUIITE SL_etl 15,000
2018 1 sibLT 31 ey sLanmaser 2,00,000
Qyrés eflpuener 4,60,000

From the following details find out total sales made during the year.’

Particulars L4
Debtors on 1% January 2018 1,30,000
Cash received from debtors during the year 4,20,000
Sales returns 35,000
Bad debts 15,000
Debtors on 31% December 2018 2,00,000
Cash sales 4,60,000

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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32, &y&nay, Ure, ahsh whod Crailiud g PpyeuengHlen g Lraflmar. sl remento
gUuTeRD @dwnaGung Wdamaataben sraneuny Guop@srerealrser ?

(i) psray s gppe aipidludrerm., et apga by ey e 55 G
10% Qangndpni,

[i) opardy @eorugdlea apgd ofldgpsdd uélipgsefss Gasn@ib ererdlpri.
e 9p sl Lrallsd opeaa gUiLbbsnarareildama.

(iii) &HS MO Hpieuend N, a@[ﬁ;g;muﬁ.t_ gL T 50,000, ojeuif HLET L
QI STOES 12% Ceuan@uangy GCampAnr.

Akash, Bala, Chandru and Danicl are partners in a firm. There is no partnership

deed. How will you deal with the following ?

(i) Akash has contributed maximum capital. He demands interest on capital at
10% per annum.

(ii) Akash demands the profit to be shared in the capital ratio. But, others do
not agree.

(iii) Loan advanced by Chandru to the firm is T 50,000. He demands interest on
loan @ 12% per annum.

33. @@ Hnaagda sL5% Brag e seflar @TUREIGET LHOID HL LA ST
e (HLOMTD -
2015 : ¥ 15,000 ; 2016 : ¥ 17,000 ; 2017 : ¥ 6,000 (BLL1b) ; 2018 : ¥ 14,000
4 syar@seiian syrefl Garusdad 5 am@sar QameTpsD eTamn igliLiaL Uil
pp@uwfldr wHliemus samésla|b.
The profits and losses of a firm for the last four years were as follows :
2015 : T 15,000 ; 2016 : ¥ 17,000 ; 2017 : ¥ 6,000 (Loss) ; 2018 : ¥ 14,000

You are required to calculate the amount of goodwill on the basis of 5 years
purchase of average profits of the last 4 years.

34. sl Lrofl Csiggd Curg Cop@srarer Gaidmgw slaBgaser wrma ?

What are the adjustments required at the time of admission of a partner ?

35. Hurs cfssdpEn sTw edssdpeEb e Caupurfser wrome ?

Distinguish between sacrificing ratio and gaining ratio.

A [ Hliys / Turn over
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36. prgan Himwd T 6,00,000 wHiiydar Quipdrgens Qmaen Hpeuasslb Bops)
arbidug. @ig ukQsray T 10 wHiydrer wpflgind CsgiserulL Cpiemb
U @S@AT y6uit s (@, Qegiss Cauamquw Qprenssans euphidliug. EpsaaTL
Heooseie uduw Gaudnguwr @iiGulGu ufesemens rajb.

(1)  ungsear WwsdHd Qeuelud Lmd
(i)  uBmEsmer 50% apeaogdld Qeuafludi e

Rajan Ltd. purchased machinery of ¥ 6,00,000 from Jagan Traders. It issued
equity shares of ¥ 10 each fully paid in satisfaction of their claim. What entries
will be made if such issue is made ?

(1)  shares issued at par.

(ii) at a premium of 50%.

37. wilwr wHHL e Hpwsdler Genaumbd ssaumsallalmpg 2019 wri§ 31 -oyb
BrCerr® wyeueL b < am@sEhw Qurgl Serey eumTaT PG MEMLS
swimr Galwey.

oSeuid wiflwr Himioib |seor Hpob
4 4
oA Lanar epatb AUbp auFETL 1,00,000 2,00,000
@517 eu(HLOTENTLD 10,000 30,000
Qsovaysar 70,000 1,20,000

From the following particulars of Maria Ltd. and Kala Ltd., prepare common-size

income statement for the year ended 315t March 2019.

Picalare Maria Ltd. Kala Ltd.
4 X
Revenue from operations 1,00,000 2,00,000
Other income 10,000 30,000
Expenses 70,000 1,20,000

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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38. Qenraupd gaaasafledlmbs LD 1% QurpiiiLser ellflggeng samsdlayb,

31.03.2018 gemenpw @ Hlewes GBluy (aumeiiu)

eeurid 4
1. LBIE PEOSEID HDHID Q@I &6
1. umkiGsTT Bl
(1) UBIE paed
Crrendl) Limi@Gser 1,00,000
(<) sTayser LHmL WG 60,000
2. persrel QuImliLser :
Bar_sre sLensar (sLaf (U LGS raIEeT) 80,000
3. pruyd Qurmliyser :
(1) sa&EEE ppld (FQIss GouamTiy L eneUSaT 50,000
(<) @sr puyL Qurmliyser daerHuL Gouemrig L Q&wma;érr 30,000
QD 3,20,000
From the following information calculate debt equity ratio.
Balance Sheet (Extract) as on 31.03.2018
Particulars 4
I. Equity and Liabilities
1. Shareholder's Funds
(a) Share capital
Equity share capital 1,00,000
() Reserves and surplus 60,000
2. Non-Current liabilities :
Long-term borrowings (Debentures) 80,000
3. Current liahilities :
(a) Trade payables 50,000
O e
Total 3,20,000
A [ Smliys / Turn over
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39. sewsdud staprouamd Gflgs Ay @GR s,
Write a brief note on Accounting Vouchers.

40. Geaumid efleupriser wrigsrantb Quensdr LG () wapsddar s sams

Gsafled ereuaurmy Camenmid eremnd s Laytb.

L4
1.4.2018 yemmy eflevemum’ @1 QurmeTsaT @MU 32,000
SAGUeuTTg & Uil eQevamuiml’ {iy GUIm(ReTEaT 1,68,000
SIEUAUTETYLA Lenpw efleenum’ Hiu Qunmeraer eAHna) 1,000
20,000

31.3.2019 ey eQenemuwimt Huy Gummersar @)Ly

How will the following appear in the final accounts of Marthandam Women Cultural
Association ?

GOl
Note

4
Stock of sports materials on 1.4.2018 ;32,000
Sports materials purchased during the year : 1,68,000
Sale of old sports materials during the year g 1,000
Stock of sports materials on 31.3.2019 : 20,000

u@dl - IV / PART - IV
Y : Jemenisg) eflemsaens@n efenwefdseLb.
¢ Answer all the questions.

41. (&) Geneumd eflourrisellellmig Qoréss Qsmarpsmed HamrédLayLw.

efleumid 4
2017 griipéd 1 oyemmmy upue sLafbCsm 75,000
2017 eriuped 1 sy Qeaussn@ i wrpmEs () 60,000
sLaBCaTmEE Qequsdu Qrrésid 3,70,000
Cegssn@fu wrpmes e Gaausdwg 1,00,000
Qamarpge &mUuLD 15,000
Qyrés Csmerpse 3,20,000
2018 s 31 ey sLalBCHMT 50,000

2018 1omirg 31 ey Cequssn@iu LIHHES G 80,000

CVINVVEY

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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(<) ymeman HpwgdHar 31.03.2019 ~eoytb prener el s @iy Hevas

GO mHS!
() up s Qurpimer LAY
(i) efNewwnert elfsib wHDID

(iii) s® e-puPper s Fem & La|LD.

e96u LD 3
I LRI APEISETILD WDHDILD Qungii|sen
1. uR@STT B
(<) UG B
Gpireniols LImIE (PG 1,50,000
8% engyfleools LkIE PED 2,00,000
(<4 sriyser LHOID @S 1,50,000
2. S smeols QummiliLser '
ﬁeﬁnl_ sTes sLensdr (9% sLaf_[{ usHrmser) 4,00,000
8. pLUyl Qummiiysar
(<) audulelmpg QudD G & SL_cger 25,000
(<) BETEEET gpalb Csass Coleiy Leausdr 75,000
Qs 10,00,000
1. Qsnggsen
1. faLameod demggisar
Hleneg Clsmggse 7,50,000
2. pLLILE enggser
(1) #r&almiy 1,20,000
(<) sSamsEsaT epald AU Ceudig LenauseT 1,00,000
(@) Qpréah wHOID AFTESSENEG FLOLDTEITEN UG 27,500
(/) @&r BLL] Cerggser :
Qeeaysear pangal_igd QFQSug) 2,500
Quorg b 10,00,000

[ HmLuys / Turn over
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From the following particulars calculate total purchases.

Particulars X
Sundry creditors on 1™ April, 2017 75,000
Bills payable on 1% April, 2017 60,000
Paid cash to creditors 3,70,000
Paid for bills payable 1,00,000
Purchases returns 15,000
Cash purchases 3,20,000
Creditors on 31* March, 2018 50,000
Bills payable on 31* March, 2018 80,000

OR

www.CBSEtips.in

From the following Balance Sheet of Arunan Ltd. as on 31.03.2019. Calculate

() Debt-equity ratio
(i) Proprietary ratio and
(iii) Capital gearing ratio

Particulars \
I. Equity and Liabilities
1. Shareholder's funds
(a) Share capital
Equity share capital 1,50,000
8% preference share capital 2,00,000
(b Reserves and surplus 1,50,000
2. Non-current liabilities
Long-term borrowings (9% Debentures) 4,00,000
3. Current liahilities
(a) Short-term borrowings from banks 25,000
(b) Trade payables 75,000
Total 10,00,000
II. Assets
1. Non-current assets
Fixed Assets %:20/000
2. Current assets
(a) Inventories 1,20,000
(b) Trade receivables 1,00,000
(c) Cash and cash equivalents 27,500
(d) Other current assets
Expenses paid in advance 2,500
Total 10,00,000
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42, () Ul s@eNufuid wenpgder Spdangpid paodsaildlmps 2019 (Wmits 31-apld
BT apig e wih oy e (@ Nur QUpIBOHEr wHpid (o F6)1 5 &0 Gl

sanddeard sunt Qaiiua.

eSlaumid 4 efleunmd T
| ‘ : . 'Lt eund 2,10,000
Qem_ds Qpna.e @qmtiy (1.4.2018) 18,000 | g1t auniudluig
Qe GlsgugHug) 6,000 | eeflwimenmi gibLIemD 55,000
' | - ; 000
o gellg Qsrens RIS, 15,200 | g QLpmE) 2,65,
B®PE sLLard Quppg 18,500 |
S|6V60F]

(<) p&mey, PCsay wHmID s@rewl eram sal Lrefleer 3 : 2 ¢ 1 eram oldl g5l
Qerukiser wHmDL U Lksemer Ldibg eupgeni. 2017 s 31 X

SjauTsERoLIL @mly Hows Golly \Sletreu(BLOTI :

QUi &er 3 N Qensgis6n 3
PS &ET&HSSHET S LD 1,10,000
ousrey 40,000 aursand 30,000
pCaey 60,000 srESmHLUIL 26,000
a:@gu'_J 30,000 1,30,000|g_anreflser 25,000
@eruplL ulie| &/G 12,000 | gnsQyr&&id 15,000

Qurgs sy 24,000

Qgmflerer Fl_HHS) 18,000

Qegiss @M wrHmEE G 22,000
2,06,000 2,06,000

Llihg SIT Gevmd, Qungé smiy wHmd Asmplereri rLGHE Cureameunen
LipgefliLghaTer GHILGULE udleyser sms. Coid s Lreflsaflen wp e
gamsans sLmésa|.
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(a)  From the following particulars of Tamil Educational Society, prepare Receipts
and Payments accounts for the year ended 315t March, 2019.

Particulars 4 Particulars 3
Opening cash balanc
on 1.4.2018 © %1 18,000|Building purchased | 2,10,000
Rent paid 6,000 |Staff salary 55,000
Scholarship given 15,200 |Subscription received 2,65,000
Entrance fees received 18,500
OR

(b) Akash, Mugesh and Sanjay are partners in a firm sharing profits and losses
gp
in the ratio of 3 : 2 : 1. Their balance sheet as on 315t March, 2017 is as

follows :
Liabilities T 4 Assets <

Capital accounts : Buildings 1,10,000
Akash 40,000 Vehicle 30,000
Mugesh 60,000 Stock in trade | 26,000
Sanjay 30,000| 1,30,000(Debtors 25,000
Profit and Loss appropriation A/c 12,000{Cash in hand 15,000
General reserve 24,000
Workmen compensation fund 18,000
Bills payable 22,000

2,06,000

2,06,000

Pass journal entry to transfer accumulated profit general reserve and workmen
compensation fund and prepare the capital account of the partners.
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43. (=) dereumd eNeupiiseaa Qg e-wi Gerugda 3 @ HEeT QETeTips
CTeD g i ude ppQuUWAer wflieou sammbdlLa]b.

(1) vweuEEs L L WP . T2,00,000
(i)  sTgTren Qemu RAEIFIN : 15%
(i) ewrurgsfer syraf Qerub : ¥ 42,000
IV

(<) gmi Bimion ? 10 wliyerer 10,000 Criraniols LIkIGSEer efarenTLILIS S 6ot
Gurg T 5, @giadyen Gurg T 3, pserd wHnd @n iempliler Gurg
T2 Qequsgib auensufer Gevefld@tiuLgl. 9,000 LBiGS®aT euThE GUTg)
w&seT ellament L ggyerarant. Guis@prser 9,000 Lki@S@aLD 5680 Qg

Sigherar gravsouwb Qupns Qerar_alr. Csmeaiwime GOUGUL B

Ldle|sener SreyL.

(a) From the following information, calculate the value of goodwill based on

3 years purchase of super profit.

(i) Capital employed 5 ¥ 2,00,000
(ii) Normal rate of return ; 15%

(iii) Average profit of the business : T 42,000

OR

(b) Joy company issued 10,000 equity shares at ¥ 10 per share payable ¥ 5 on
application, ¥ 3 on allotment and T 2 on first and final call. The public
subscribed for 9,000 shares. The directors allotted all the 9,000 shares and
duly received the money. Pass the necessary journal entries.
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44, (=) @@Q{@b weori HpingdHer 2016 wrid 31 wpmitd 2017 wrré 31 = L0|prshar
SUISLE @miiy Rewds GO Qeneng wmi Qeunua.

} 2016 wmriré 31 (2017 wrirg 31
eNeumd ’ z
L Ui epevgemd whpb Qungyliyser
1. LRI &S T H
(1) umIE W 2,00,000 2,50,000
(<) ST B@Huyib 50,000 50,000
2. far_asral Quritiyser
PaL sres s aisdr 30,000 60,000
3. pLtiy Qummtiyser

SETEGSET eLPAOLD
Cequss Ceuaiy wiamauser 20,000 60,000
Qg sLd 3,00,000 4,20,000

I Qenggisen
1. farr_snas Qerég)sedr
(1) Blovevs Qenggisar 1,00,000 1,50,000
(<) Bar_amew wpsaSHaer 50,000 75,000
2. pLyE Cergsiser

Sr&& Yy 75,000 1,50,000
L Qyr&sid wHmID Qyr&asH@E FLWTaE@eUSHT 75,000 45,000
L ané',g,d) 3,00,000 4,20,000

(<) eari’ iy et &P weTws Flen

{60605
Gemeu B Aupsdser wHmb Qegs s sar

samsdlelmbg 2018 wrié 31 -<plb FrEeTr( WpigeuenL WD & (W
aumeuml womib Cewellars sansms Swrféseawb.

ATNETSED 3 AL IMEE T 4
Qam_&as @mLuy : eflememuim’_ AL Quimmeraer
e Qprésid 5,000 | UTE Elwig) 10,000
aurL_ang Qubms 10,000(erpg) Qunayenéans Qsausdug | 7 0oo
psSHsar eflha) 8,000| saflu@uirdl eur &g 25,000
shsT QUDD S 54,000 |gibuiemd 20,000
Qud Bmiy
& Crrssid 15,000
77,000 77 000
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(@) From the following patticulars, prepare comparative balance sheet of Malar
Ltd. as on 318 March, 2016 and 31 March, 2017.

(b)

Particulars 31" March, 2016 |31* March, 2017
3 < ]
L. Equity and Liabilities
1. Shareholder's fund
(8) Share capital 2,00,000 2,50,000
(b} Reserves and surplus 50,000 50,000
2. Non-current liabilities
Long-term borrowings 30,000 60,000
3. Current liabilities
Trade payables 20,000 60,000
Total 3,00,000 4,20,000
II. Assets
1. Non-current assets ‘
(a) Fixed assets 1,00,000 1,50,000
() Non-current investments 50,000 75,000
2. Current assets
Inventories 75,000 1,50,000
Cash and cash equivalents 75,000 45,000
Total 3,00,000 4,20,000

OR

From the following Receipts and Payment Account of Ooty Recreation Club,
prepare income and expenditure account for the year ended 31.03.2018.

Receipts 4 Payments L4
To opening balance By sports materials 10,000
Cash in hand 5,000 purchased
To rent received 10,000|By stationery paid 7,000
To sale of investments 8,000|By computer purchased 25,000
To subscription received 54,000 By salaries 20,000
By closing balance
Cash in hand 15,000
77,000 77,000
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- (1) whymb wppib pgy GTQID dalLmeflaer apenpGus 2 ¢ 1 eTgyid cflfpg e Gy
PoLms@ar LUlihg apsart. 1.4.2017 ojenm Qpeaen eremLialeny LW

wiLnalluns Goiggart. Spssan. sfsal@pdsd Guopasrderiu

ANV
(<) Qemauid efleurrisefalmbg Qwrés efhumaram GemmdEslLeywb.
efkund 4 eSleunid 3
2018 eriiped 1 oieimy HL_emaflser 490,000 QumsnE i wmmmnE &6 15,000
OISSILLL G|
2018 eniiyed 1 oyammy QumshE v 60,000/ g S(mLid 20,000
LIHOIFEE B
gL ameflsafl_LOmbg Qubm Qrrésid 7,25,000|12019 \npivs 31 Siem)
QungdE i s’ @ 90,000
QupshEL LMHpEE Gésts Qurssw | 1:60:000/2019 g 31 <SG LiHLIad
Gupps sLameflgar 2,40,000
QUM T&EL_GHT 30,000|Qyrés o9 Lienes 3,15,000

(a)

Geuarr(Hib.
(1)
(i)

Qe Couain(pb.
(i)

(iv)

Fr&&miiy wdlieu T 5,000 o Wirgs Geuemt(HLb.
ghsefier uay Quprwgierer weeGser T 7,000 gHGUTE ugl ey

Qs srgamisd wdlmu T 10,000 Gapss Couar(Hib.

QarRuLmogerer sl T 9,500 -&@ euens Qeww Ceuesm(id.

GHUCULGL udayser shsy LIS HE samsms swriléseab.

Sriram and Raj are partners sharing profits and losses in the ratio of 2. i1,

Nelson joins as a partner on 15t April

. 2017,

The following adjustments are to be made ;

(i) Increase the value of stock by ¥
(i)
the books of the firm.

(iii)

5,000.

Reduce the value of office equipment by ¥ 10,000.

(iv) A provision would also be made for outstanding wages for ¥ 9,500.

Give journal entries and prepare revaluation account,

OR
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b) Fr .
®) Wpﬂrticulnrs, calculate total sales.
Particulars T Particulars <
Debtors on 1™ April 2018 2,50,000]Bills receivable dishonoured 15,038
Bills receivable o 1 April 2018 60,000(Returns inward 58’300
Cash received from debtors 7,25,000|Bills receivable on 31" March 2019 . IOOO
Cash received for bills receivable | 1,60,000{Sundry debtors on 31% March 2019 . 00
(Bad debts 30,000|Cash sales 3,15,0
241

46. (=) (i)

(<) wreviller wpmib 658 Hmosdlan Geramd

B, e wpmb Feor eram sl Lrellaer Shiser GarUmsama 2:

TeIn 558 @ LhE) eubGani. S erenLiaum Fol_L_TETENLDEMILI aﬁh%@
eSlo@&pnt. wrar LopmId BeoreysEh GG o erar LHw Gaoru uéliel

(i) Q%’@Lb 3: 2 gsrw elldlgsms SEEHSLGLD.
11
3 : 3

Fale, g wHmb &HsM erary Fal_Lmafl&er §ﬂ:318561'T"@6’0ITUFEEI5mGT.T
4 eranp fdgsHer LETHE UHST. shsM eramuel

mLLTaremwaw L) daogdpri bpmb SelHoLu LG
WOu®sYD sald a@ass Garardpri. Sy Garu usitay AL

OMID RFTL Nfgsmss samésLab.
N[N

HEflea oMsmsleand swrr Qewweb.

-g,aeueba;aﬂeﬁ]@'r_'r@ Gurglsieey

: wreviflen Hmioid |#&8 Hmioid
edleu rib . A
L. UG ePEGETLD LHNID QUIHILLYSET
L urggmi f18
(1) U@ PpseD 2,00,000 3,00,000
i 60,000
(<) sTiyb @S Wb 50,000
2. S grals QUITmLIL&ET
BT GTQE L6 1,50,000 1,80,000
3. pLliyl Qumrmliysa
GETEGEE pOD WFQISH Gou i ig W 606U &HET 1,00,000 60,000
QwrEswW 5,00,000 6,00,000
I1. Q#ng g6
1. fear sraos Qergg sar
(1) Flmaé Qergg sar 2,00,000 3,00,000
() BeRTL &M CERICELY 50,000 1,20,000
2. pLUyé Qergg &
Fradlmuy 2,00,000 90,000
Qrrésib wHmb QrTEssEHE FLwmane eusdr 50,000 90,000
Q&SI 5,00,000 6,00,000

[ Sy / Turn over

Kindly send me your answer keys to our email id - padasalai.net@gmail.com



5957

(a)

www.Padasalai.Net

(1) Kayal, Mala and Necla are partners sharing profit
212 : 1. Kayal retires and the new profit sharing ratio between Mala
and Neela is 3 : 2. Calculate the gaining ratio.

(ii)  Sunil, Sumathi and Sundari arc partners sharing profits in the ratio of
313 :4. Sundari retires and her share is taken up entirely by Sunil.

22
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Calculate the new profit sharing ratio and gaining ratio.

OR
(b} Prepare common-size statement of financial position for the following

particulars of Yasmin Ltd. and Sakthi Ltd.

Particulars Yasmin Ltd. | Sakthi Ltd.
T (4
I. Equity and Liabilities
1. Shareholder's fund
(a) Share capital 2,00,000 3,00,000
(b) Reserves and surplus 50,000 60,000
2. Non-current liabilities
Long-term borrowings 1,50,000 1,80,000
3. Current liabilities
Trade payables 1,00,000 60,000
Total 5,00,000 6,00,000
II. Assets
1. Non-current assets
(a) Fixed assets 2,00,000 3,00,000
(b) Non-current investments 50,000 1,20,000
2. Current assets
Inventories 2,00,000 90,000
Cash and cash equivalents 50,000 90,000
Total 5,00,000 6,00,000
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47. (=) @Gsey «»fﬂﬂlim.é%gnm eraumih @emu fpLL sifsensulledlmHI

(1) Qurgs Qanu eddan

(1) Har Qe alldlgid samsfad

Wesay HnwsdHen @eonruplL Siflsms.

ealeumd

G\ rens
T

L dflpuerer ppad Qupp eumeumi
IL. Qsr QU(HLOTEITLD
WSSH epLd au(HEUML
L. Quorés eugeumls (D)
V. Qeeveyger :
Qararupse Qg sT&EGsaT
g7&& mUL IHOLD
Ll et paes@hsaTer deaesar
Eg7 deawajger
aufl @516
Qrss DFaeser

V. @jdueunamiy Hamen Gemuid

2,50,000

20,000

2,70,000

90,000
10,000
15,000
55,000

25,000

1,95,000

75,000

S|V6VF)

(<) seflafivws samsdwd pepullan LuaTurfseie gCs@ib ghImar

edleT&&aLD.

[ Smuys / Turn over

Kindly send me your answer keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net www.CBSEtips.in

5957 24

(a) From the following statement of profit and loss of Mukesh Ltd. Calculate,
(1) Gross profit ratio

(1)  Net profit ratio

Statement of Profit and Loss

Particulars Am;unt

. Revenue from operations 2,50,000
1. Other income :

Income from investment 20,000

III. Total revenues (I + 1) 2,70,000

IV. Expenses :

Purchase of stock in trade 90,000

Charges in inventories 10,000

Expenses on Employee benefits 15,000

Other expenses 55,000

Provision for Tax 25,000

Total Expenses 1,95,000

V. Profit for,the year 75,000

OR

(b) Explain any five applications of computerised accounting systems.

-00o0-
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